thike vy a vy [Hifyif] HE KBS D A= — BT
LS — X EEI THIEER B LT 52 Ry X

K<AFBER23,6001, 7 H > <{ERERHLE3,2201, 7 H > <UKEHEARI001 H > <CATV1,2001,H > <HIH #3001, H > <BEdis;1,0001, 5
H. 2,000/, 6~10H (L5001, 75 H) > XXy bl JHEOARTHETE 2081 (MUR, k)

e RN
= e

1 DK 3304LH

HFGNT Fi402-1
VS — XA EI
a2t [FEEER] BRX b 500m

11285 } 12,04
HAWHNE o ——(/Wa=—:

142.34ni 16.76ni
19894E7 H | EiHig L 1 (R
g ATETE e 51,190.140nf WP 571)5
WX - BUBEL [SRCit /4 F 1Rt |- 7R

WEME  AWEIE (TaH ok

=|l

XL

B
’fﬁ (gL 523,600F]/FJ ﬂ%%%ﬁ%ﬁés,zzom/ﬂ
", Bt ek AlEH %
i Ky [HeERIREY KR

WREN  |REAKE (TR | EhE O

= =




